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1. onfie o o1R mEn Al e 21 3 T W Steel aiHes

TEUTdTd.
(1) 5 (2) sRuTES <H
(3) T wEE (4) TTIH HIvdEl T
Manipulation of accounts to show a better position is called as
(1) Error of commission (2) Compensating error
(3) Window dressing (4) None of the above
2, SErRd yET 1§ TS L.

(1) U5 (desirable) ST Ugel/ASHT

(2) Sgifes a@waiE T

(3) <@ Ygd=/(Policy) Feie R

(4) 2ifm SE ww o

Purpose of accounting standard 1 is to establish a standard as to
(1) The desirable accounting policies

(2) The fundamental accounting assumptions

(3) Disclosure of accounting policies

(4) Preparation of final accounts

3. wHee Hiufrm 1956 =0 M 1 Aefte Gt VI JoR SV veran G91at 9 /s, Fet i s
ThUT AT B ATE ¢

(1) a1 A Sheten Ty =29

(2) TeavEEdd @ =

(3) = faw/ge

(4) T @Y

Which of the following is not an item under current assets, loans and advances under
Part § of Schedule VI of The Companies Act 1956 ?

(1) Preliminary expenditure not written off

(2) Interest accrued on investment

(3) Bills receivable

(4) Closing stock

FHoHT HINTHTET AN/ SPACE FOR ROUGH WORK P.T.0.
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4. UNEEIER 9§ [aaueh e el qeardier e geame faféen
(1) g feft (2) THEE @R
(3) wisas fft (4) amr feft

Any reduction to market value of current investment from cost, on valuation date is

debited to
(1) Revaluation reserve (2) Profit and loss account
(3) Capital reserve (4) General reserve
5. ORI 81 S T IR T4,
(1) o | (2) THTH HTETHI
(3) Tl TreE (4) feR e
Depreciation is charged only on the |
(1) Current assets (2) Intangible assets
(3) Fictitious assets (4) Fixed assets

6. o, ¥, & ¥ U™ WIFRR 31Ied ™= 6! IEIrET HF9Td (Profit Sharing Ratio) %5 , %3

a7 . ‘% sl gl i e o e e o sl an snfitare 3 : 2w S
YT, T SNIFRHET 797 997 9T g SO,
(1) 12: 13 (2) 13: 12 (3) 11:12 (4) 7:9

A, B, C were partners sharing profits in the ratio of y5 , %3 and 7/15 . C retires and his
share is taken up by A and B in the ratio of 3 : 2. Find out the new profit sharing ratio.

(1) 12:13 (2) 13:12 (3) 11:12 4 7:9
7. WRR e suferda, wierms 1wl § drer argTaTa T s, \
(1) 3:2 @ 1:2 |
(3) @ A (4) wisaeh FIIA
In the absence of parinership agreement, partners share profits and losses in the
ratio.
(1) 3:2 2y 1:2
(3) Equal ratio (4) Capital ratio

HoedT HIATHTE! WATI/SPACE FOR ROUGH WORK
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8. ygrAFE for aud’ g
(1) difow EgRF/€aE = TR 96R1 — I1a autar gan + et fasiade aam
(2) oifow sragER/aEr = TR SFaER[ e + =ie adffan van — dud faafiede aam
(3) ifem raarEA/aarT = WHER S + T G St suxiadiet vam + sifom srasfa

HedTalic 9|
(4) ifer STAER/TERT = I GART + =] aurar vERT — ot fehadte wam
In the schedule of fixed assets of a company

(1) Depreciation closing = Opening depreciation — Depreciation for current year +

Depreciation on assets sold

(2) Depreciation closing = Opening WDV + Depreciation for current year — Depreciation

on assets sold

(3) Depreciation closing = Opening Depreciation + Depreciation on assets purchased

during the year + Depreciation on closing WDV

(4) Depreciation closing = Opening Depreciation + Depreciation for current year —

Depreciation on assets sold

9. YEHATET ABIAEHY (Live Stock)
(1) TIEST=A/HUAA A2egd Fl-aud! 41 YSraTet qaTae B
(2) THSETAVHHI deae fRR-Tust a1 yenae) guTiae gt
(3) THSSTET TNICIN/ABTEIT SEATd Haul Thy’ Tgud JHTST gl
(4) TN ATIIAN/TEII WITd I+ @9 TgV THET gt

Live stock is shown

(1) Under current assets as stock in the balance sheet of a company
(2) Under fixed assets in the balance sheet of a company

(3) As closing stock in the profit and loss account of a company

(4) As revenue expenditure in the profit and loss account of a company

wHeodl HATATE ANT/SPACE FOR ROUGH WORK P.T.O.
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10. <1 GfAEEATd AR ILITE GG B Fo19 WISDT TAT9HT Shed! SI1d &TelT
(1) iala gHage/gwEAT (2) fae/Reiieo
(3) SR GHHUA/ A (4) iz

When the merger involves liquidation of one existing sick company and formation of
one new company, it is called

(1) Internal reconstruction (2) Absorption
(3) External reconstruction (4) Amalgamation
11. UUH 14 (AS 14) YA GRisom=n g9Ew 1 2R YarTia el STa.
(1) bz st faem
(2) wfaema anf @t

(3) wftvor anfor gieee/griee

(4) TR TR it iaia gHEHe

According to AS 14, amalgamations fall into two categories
(1) Amalgamation and absorption

(2) Merger and purchase

(3) Amalgamation and reconstruction

(4) External reconstruction and internal reconstruction

12. 31/03/2011 urdt =+t f1. = feas w1 %, 12,000/~ 9 wigaet €. 60,000/- g, TWEI Ieq=
9 WHRST TR 10% AT8. I THErA1 (Super profit) Wigaeft §em (Capitalised value)
=1 3Tt e va (Goodwill) = Weie
(1) % 60,000 (2) % 12,000
(3) %. 6,000 (4) FOdh v e
Rishi Ltd. earns a net profit of Rs. 12,000 with a capital of Rs. 60,000 as on 31/03/2011.
The normal rate of return in the business is 10%. Goodwill by capitalised value of super

profit will be
(1) Rs. 60,000 (2) Rs. 12,000
(3) Rs. 6,000 {4) None of the above

FHol HIHTHTRE! ATMM/SPACE FOR ROUGH WORK
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13. eyl {1, 9 guwm swigad 1,50,000 TAWPT SRt . 10 THT 3718, gRESSmET
| i awtd %. 25,250/-, %. 31,000/- F%. 45,000/~ SATE. T TR 20% T G T
{ T T, FE I AT THRAT FTEEG 15% H. T TH QER THART oS

(Yield Method) 7 .
(1) & 15.00 (2) % 8.33
(3) ®. 6.67 (4) ®.12.00

Equity share capita! of Aadarsha Ltd. consists of 1,50,000 equity shares of Rs. 10/-
each fully paid. The net profit for past three years is Rs. 25,250/-, Rs. 31,000/- and
Rs. 45,000/-. Out of the profit 20% is transferred to general reserve. If normal rate of

;r return is 15%. Value of equity share under yield method is
| (1) Rs. 15.00 (2) Rs.8.33
{ (3) Rs.6.67 (4) Rs.12.00

14. @k (Transferor) YHSBIAT Yel® Al IR FdadTfase e (Intrinsic) 250 %. 31
AR (Transferee) THESTSAT Wedsh AHAT I STdGHIIS God 400 %, 371, T Fdamiiase

1 TEITSAT SRR v o o e T,
| (1) 2:1 (2) 8:5
? 3) 8:8 (4) T T

Intrinsic value of each equity share of the transferor company is Rs. 250 and that of
the transferee company is Rs. 400. The ratio of exchange of shares on the basis of
intrinsic value is

(1) 2:1 (2) 8:5
(3) 8:8 (4) None of the above

15, WSS USEUITgHie oW 3 TIHIaRE el aAna ?

(1) TTE™/AHIeT @ (2) wisaarH
(3) I (4) FATh F3 AT
Profits prior to incorporation should be transferred to
(1) Profit and Loss A/c (2) Capital Reserve
(3) General Reserve (4) None of the above
oo HWTETE ART/SPACE FOR ROUGH WORK P.T.O.
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16. €. €. @ — 1 (CAS-1) 79N 9feg v
(1) =reule TFEE 9o
(2) <Te] TN G IQIH e gust I
(3) T wmo= Yfdrerfss wey
(4) =& viemgr= guad
According to CAS-1 imputed cost is

(1) Hypothetical nominal cost
(2) The cost of an asset in the current market for the purpose of replacement
(3) Historical cost which is incurred

(4) The aggregate of variable costs

17. H.LE.-12 (F6-12) it Gt o2,
(1) g fey (2) Iyt gited
(3) it (4) TEt T oY afe
CAS-12 s related to
(1) Material cost (2) Cost of utilities
(3) Overheads (4) Repairs and maintenance cost
18. fu=A (Inventory Control) ‘sreia” faveiwonger s faashia sear sam.
(1) @ wamfa (2) R wania
(3) = yamia (4) gl yamTd
As per ABC analysis system of inventory control the items are divided into
(1) Two categories (2) Three categories
(3) Four categories (4) Six categories

19, ‘STR-F A (JT) 99 Worm Hivft ST vt ?

(1) A FFNE B (2) gt oed

(3) HIE Ut (4) YT IS ST
Just In Time (JIT) technique was introduced by

(1) General Electric Co. (2) Toyota motors
(3) Ford Co. (4) Coco-Cola Co.

HeAT HATATE! AWMT/SPACE FOR ROUGH WORK
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20. <A yHTivE R ¥ SHVEATAT 50% fhar wmlan S e 9iy oAl
IS WS TR AWV Giefierdeh!
T Tt (@)
(1) TH = Y3 x FedHF TH x -
T A@
(2) TH = 1/2 x FEUMF TH x -
g TG
(3) TH = 2/3 x HIAMH AR x -

(4) TUH! THA ATE

In case the work certified is equal to or greater than 50 percent of the contract price
but less than 100 percent of the contract price; then profit will be calculated using the
below mentioned formula.

, ~ Cashreceived
(1) Profit =1/3 x Notional profit x Work certified

; , _ Cash received
? (2) Profit=1/2 x Notional profit x Work certified

j i ) ~ Cashreceived
(3) Prof1t=2/3 x Notional profit x Work certified

(4) None of the above

I

21. viErer v ved) e wel Araeett ST,
’ (1) ITE IENI (2) fawrzam
(3) Fwer wehm (4) Fa weim
Operating costing is exclusively used in
(1) Manufacturing Industry (2) Process Industry
(3) Agro-based Industry (4) Service Industry
FHoedl HATHIE! JATT/SPACE FOR ROUGH WORK P.T.O.
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22,

10
AT HUSTATS Hediehd =

(1) T e -nie 1@
ffawe

o) T WRRE

(2) S

@ yfteae - TWFT AU TR RIE AT
Rl - gmr o1uey

(4) TOAVH! Fore e

Abnormal loss is valued by

(1) Costincurred- Scrap Value
Input

Cost incurred

(@) Input

Cost incurred - Scrap Value of Normal Loss
Input - Normal Loss

(4) None of the above

23.

(1) ¥E Iare (2) 7&a AT
(3) =1 s (4) W€ IeTE

If two or more products are separated in the course of the same processing operation
they are termed as

(1) By-Products (2) Main Products
(3) Substantial Products (4) Joint Products

24,

fosht <t wfa 1 %.16/-, feR uftar (Variable Cost) Sfd 771 %, 12/- 3 wfi o (Fixed Cost)
¥, 60,000 3T W H%z;m" maed (BEP in units) A4,

(1) 15000 1 - (2) 10000 1
(3) 20000 (4) 40000 1

if the selling price per unit is Rs. 16/-, variable cost per unit is Rs. 12/- and fixed cost
is Rs. 60,000/-, then Break-Even Point (BEP) in units will be

(1) 15000 units (2) 10000 units
(3) 20000 units (4) 40000 units

HooqT HTHTAT! AN /SPACE FOR ROUGH WORK
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25.

11
‘g e w0’ 7 e am | e
(1) siftrerEr faaor FamEr

(2) ‘“uferm g’ TER FRITEE

(3) ‘e e fareer’ TR SuEETdt
(4) TfR iR gyeERr STt

‘Do As The Other Has Done’, is the basic rule for

(1} Allocation of overheads
(2) Preparing the cost-sheet
(3) Preparing the Reconciliation Statement

(4) Segregating the fixed cost

26.

IR =

(1) feht — == i

(2) for ufemm + am

(3) fauft x @ aftsaw sTgaTa/emy W 79T
(4) a0 wd

Contribution =

(1} Sales —~ Variable cost

(2) Fixed cost + Profit

(3) Sales x P/V ratio

(4) Ali of the above

27.

gl e e A E % A 9.
(1) (SQx SP)-(AQ x AP) (2) (SQ - AQ)xSP

- (3} (SP -AP)xAQ (4) T The e

The formula of calculating Material Usage Variance is
(1) (SQxSP)-(AQx AP) (2) (8Q-AQ)xSP
(3} (SP — AP)x AQ (4} None of the above

THEST HINTHTE! ATTT/SPACE FOR ROUGH WORK P.T.O.

wrenss StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

BRM 12

28. ¥ HEAGHA frEton= WeETg ST T | A9,
(1) (SHxSR)—(AHx AR) (2) (SR - AR)x AH
(3) (SH-AHxSR (4) =t ud
The formula for calculating Labour Efficiency Variance is
(1) (SHxSR)- (AHx AR) (2) (SR-AR)x AH
(3) (SH- AH)x SR (4) All of the above

29, I HSUh HIHET] Wlel] FHRicHeh SFraT I Hd e
(1) feerr/gEa ErIaTs (Master Budget)
(2) fosht staea=
(3) IR ISR
(4) U@ eI (Cash Budget)

The Budget which covers all the functional areas is
(1) Master Budget

(2) Sales Budget

(3) Production Budget

(4) Cash Budget

30. gufosds Grufia/qeTa Wefieah! T 93l SrafeEr 9a e

(1) gen dm feht wehehra (2) anfI=adg fog wwea
(3) T uieE W (4) G g

In a Break Even Chart the following point is not indicated

(1) MOS sales in units (2) BEP in units

(8) Total cost line (4) Purchase margin line

31. = qumeie yeu It

(1) A Sfe T (2) 919 Tl o

(3) A (1) 9 (2) (4) R aumavi= SERER Hawe SEd
Main object of audit is

(1) Expression of opinion (2) Detection of errors and frauds

(3) Both(1)and(2) (4) Depends on the type of audit

FeedT THATHTS ANT/SPACE FOR ROUGH WORK
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32. T qumaeh fraee 2 sl

(1) %1
(3) A< ad

Audit plans should be based on knowledge of the clients

(1) Profits
(3) Net worth

(2) Business

(4) Reputation

33. e UE fshiertiar s SaTures S1ftes Urer /el ?

(1) = fshren gradi= e v

(3) e Tt

Cash sales is vouched on the basis of
(1) Carbon copy of cash memo

(3) Original receipt

(2) foshi <fismen
(4) b wmmore

by auditor.

(2) Sale invoice

(4) Sales voucher

34. i fimomeh 3feR
(1) IHTTHIG 3R] IR
(3) fafm wRferl gurat
Objective of internal control is
(1) Preventfraud

(3) Improve financial soundness

(2) wrEeman vfesy T
(4) I uETE fag w=w

(2) Prevent inefficiency

(4) Select right people

35. Fia fedrerauraviieh smxh Ho tEq ?
(1) =g=eg9a
(3) wWTHTRh
Scope of internal audit is decided by
(1) Management

(3) Share holders

(2) T Teve qureria
(4) Fx TER

(2) Chief Auditor
(4) Central Govt.

HEAT HINTATE! ATT/SPACE FOR ROUGH WORK

P.T.O.
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36. =i qoTEvfl Ut
(1) =it delean sraerrs qyof
(2) Fass g aarauf s
(3) B THIUERTE] Ut 0T
(4) @ i qurETh wo
Test checking is
(1) Checking the transactions which are tested
(2) Checking the selected transactions
(3) Checking vouchers only
(4) Checking cash memos only

37. sremale gita o € o) Sxar g 7

(1) < 2o (2) Garsg 2
(3) @M (4) Frm wEd 0
Arrears of preference dividend is
(1) Long term liability (2) Contingent liability
(3) Current liability (4) Fixed liability
38. uRUNEH (Freehold) SRl QAT M SeharerTet 7 e aurEeht
Ul TP e,
(1) wnfiea suftr 3o (2) SR
(3) Q@i (4) Wit
in case freehold land is revalued, auditor does not have to check the following point.
(1) Possession and use (2) Basis
(3) Accounting (4) Disclosure
39. I JEH= WA Yo Wil Yot Fivredt ugdA wan ?
(1) 7 foua
(2) s fRaa
(3) ez Forwa fora1 aeR ferwa ardter &ft ovaaied forma
(4) =g Bord} fma
Closing stock is valued at
(1) Cost

(2) Market value
(3) Cost or market value whichever is lower

(4) Realisable value

e HIRTATE AFTT/SPACE FOR ROUGH WORK
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40. anfdep feramoriasieft 27eha7eh STEaTel AT S SHIVTET Sh&oT FHIVET (Auditing
IR AT S 7
(1) u.u. uya. 18 (2) v.w. g 19 (3) uw u uwy. 28 (4) u. w. uwd, 29

In preparing 'The Auditor's Report on Financial Statements the following Auditing
and Assurance Standard should be followed

(1) AAS 18 (2) AAS 19 (3) AAS 28 (4) AAS 29

41, Sikhgen 3 e AR A e ety wefifa S s whfedis= &
REIGRCET I To R S B
(1) @u ftr Iy g (2) <TET AT ande i
(3) =rafera nfo SR i (4) 9 oy 3 gfRsm

The auditor should consider the implications of the circumstances on their
which the financial statements ought to convey and frame his report appropriately.

(1) True and fair view (2) Good and bad view
(3) Proper and correct view (4) Fair and unfair view
42, JFohidta 37fem Q@ aur A Svre fam 9 71 qrere wrEE ?
(1) = srferfaemm=an 9= 6 (2) wwt arfefrmr=n = 7
(3) & A= = 4 (4) = A= g=h 8

The audited final accounts follow the rules and requirements laid down by
(1) Schedule VI of the Companies Act (2) Schedule VIl of the Companies Act
(3) Schedule IV of the Companies Act (4) Schedule VIII of the Companies Act

43. ITHEHTAT AT TeTTE I HUATHIS! IV Hi=al |1 ST ?
(1) TR 9§ T
(2) & GaTEAR
(3) HF WPTYRSR
(4) ST ST HEETER
An auditor can be removed only if approved by
(1) The shareholders and the directors
(2) Only the directors
(3) Only the shareholders
(4) The shareholders and the Central Government

THoedl HIHMTS! SITT/SPACE FOR ROUGH WORK , P.T.0.
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44, ‘g FheIU TR
(1) enfder auta arfara Ftet amhaw
(2) i auTa sufaes we v helel 3HEw
(3) ol ad TucaTaR & FHeie S
(4) Fsf=n 365 foqw aad & TEaw A

Continuous Audit means an audit

(1) Without any interval throughout the financial year
(2) Atregular intervals throughout the accounting year
(3) Which begin after ending the financial year

(

4) Which goes on 365 days a year

45. WIfled N hIvTAT ATIR SHGERI< el el I1d 7

(1) Fafwe fea (2) =R fea

(3) Sevv/EEed R (4) wmfoes fea
Proprietary Audit stands for verification of transactions on the test of
(1) Personal interest (2) Proprietor's interest
(3) An enterprise interest (4} Public interest

46. FrW Fhew T (Permanent Audit File) TE3 e WAy gt ?
(1) amhev FrRimy
(2) STh&TVT ATTGST
(3) wriie auf=n sofar orear=an T
(4) el aut=h ufengey d0s, oiftm o@, g a e
A Permanent Audit File contains the following details
(1) Audit programme
(2) Audit plan
(3) Copies of audited accounts of earlier years
(

4) Trial Balance, Final Accounts, Schedules and Grouping for current year

THeehT HIFTHIS! AU /SPACE FOR ROUGH WORK
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47. Wiy Fhivie AT 95 Tl ?
(1) aawvit (2) wuEfier (Vouching)
(3) fafearo (4) Fifvediem
Which is not a technique of verification ?
(1) Inspection {2) Vouching
(3) Observation (4) Confirmation

48. e SAffTeaar el gy 30 od R siheEM F8 7d foat wfes ?

(1) guifd wa (2) dexy Ha

(3) TeRTCcHeh Hd (4) YTTER Hq

If the uncertainty is very significant, it is advisable for the auditor to give a
(1} Modified opinion (2) Disclaimer of opinion

(3) Negative opinion (4) Piecemeal opinion

49,

‘eifia STeherh’ A1 T IO HHIGY € e 7

(1) IS FAFHee

(2) 37elt el oI TR ST @ 3ieheTum= aeRi fEwtan Smer sheler R

(3) weehR famman Sanfaga it il v ger fawmTa ofhersh T dan Feiel IR

(4) Fad b Fg svereh st

The term certified auditor does not include

(1} Chartered Accountant

(2) A person who holds a government diploma in co-operative accounts and audit

(3) Retired officer of the co-operative dept. who has served as an auditor in co-op. dept.
(4) A person who has retired from the RBI

50.

Hes resteh e ARRm (w33 (2), 33(4)(b)) TaR et anffe 3a= sraeiet =@
STHATOTII e T 7

(1) % 50,000/~ féhar wmen it (2) %. 10,000/~ ferar ey st

(3) ®. 15,000/~ férar wme FH) (4) %. 20,000/~ forar T Tt

As per the Bombay Public Trust Act, (Sec. 33(2), 33(4)(b}), the trust having an annual

income of is exempt from audit.

(1) Rs. 50,000/ or less (2) Rs. 10,000/- or less

(3) Rs. 15,000/- or less (4) Rs. 20,000/- or less

Heed| HINHRG! ANT/SPACE FOR ROUGH WORK P.T.O.
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51. WSS Jhaehicll vl SRR a7
(1) wfedt 3 forvcom wr ey
(2) wegeT=H MG A I M HTgEh eV
(3) WHESHTAT JEIHTSR TEIMTEHR
(4) T TS G VTS HO F GEET g U0
An auditor of a company shall not have a right
(1) to obtain information and explanations
(2) to visit branches and access to branch account

(3} to have lien on books of company
(4) toreceive notices of and attend general meetings

52. @l e sy a@ awr Fag .
(1) et Frasor & siarfa aumavfian o s ame
(2) Farla frg=o & atarta STsherTe T W TR
(3) sfrta auraeieTd) fd sderd @t figah e o
(4) il Rz siata quraet 8= sata Seheom=r gamE gl
Select the true statement from among the following
(1} Internal control is a part of internal check
(2) Internal control is a part of internal audit

(3) Separate staff is appointed to carry out internal check
(4} Internal control includes internal check as well as internal audit

53, Wiclieitehl HTS AT T TR ?
(1) THEIUTT TAAFHOT GATA Bl
(2) 3ihyu R} YT TSI R
(3) THH } FIS AR HFRd 3R
(4) aureoh weur fafire St S damfer ae

Pick up the true statement from among the following -
(1) Audit does involve re-audit

(2) Audit is an annual recurring assignment

(3) Auditing is limited to only books of accounts

{4} Investigation is examination of accounts for specific purpose

HET HIATHTE! ATT/SPACE FOR ROUGH WORK
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54, BRI iherhre ST @ Joge el Fream, e ik g
(1) T 98 (2) WY
(3) 3 TR (4) T FER
Vacancy caused by death of the auditor can be filled in by
(1) Board of Directors (2) Share-holders
(3) Central Government (4) State Government

55. e yRdigerea dfeean sisheehrd] R Tt Ao et Srematfia sheft wifedt 7
(1) 2= (2) 1ufen
(3) 7 feww (4) 3 =R
First auditor of a newly formed company should be appointed by the Board of Directors
within
(1) 2 months (2} 1 month
(3} 7 days (4) 3 months

56. wHoTERREr ‘Wasn freea’ & g Rt faveer Fom "eEe IR 7
(1) v (2) R
(3) TEFR (4) e
For whom is EPS a yardstick to evaluate the firms performance ?
(1)} Creditors (2) Debtors
(3) Investors (4) Customers

57. 'YI% 3TH /I~ gfRea 9 Y16 9l /I gitw Hoh giva & 7
(1) wfefreren o firem (2) syis safe
(3) <. 3Rwwran (4) <. pivepmar
Net Income Approach, Net Operating Income Approach are suggested by
(1) Modigliani and Miller (2} Durand David
(3) Dr. ishikawa (4) Dr. Fujikawa

THowdl HHTETE! AT/ SPACE FOR ROUGH WORK P.T.O.
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58. sfegr g & (discount rate) g 3t yaTer 91 46 @ Ty Sfda yate™ g

Fal, " TEUraTd,
(1) srrwREfda ahea (2) imm hea
(3) fafire uf=mm (4) fiy vf=m

refers to the discount rate which equates the present value of cash
inflows with the present value of cash outflows.

(1) Explicit cost (2) Implicit cost
(3) Specific cost (4) Composite cost

59, TN YITeH AU =
(Dividend payout ratio)
FLATHN FaT IS, A - YRR ATH

(1) ——
THAT M gt

AT Wi wHay {9/ wm
firezera wio o1

(2)

amiw wf s
foruof we wia o

(3)

fauelt ge wfe goan ow
freswa wfa o

(4)

Dividend payout ratio =

Net profit after tax - pref. dividend
No. of equity shares

(1

Dividend per equity share
Earning per equity share

(2)

Dividend per share
Market price per share

(3)

Market price per equity share
Earning per share

(4)

Hool HATHTS! ATTT/SPACE FOR ROUGH WORK
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60. ‘M’ (Finance) fafi@ (routine) ®/ ®ra ?

21

(1) @ y=ft T Mem TR g

(2) wisaarE T ffftaa &

(3) TravaTs Ffvaa =

(4) T ot

Which is a routine function of finance ?

(1) Supervision of cash receipts and payments
(2) Estimating capital requirement

(3) Estimating cash-flow

(4) Investment decisions

61. 1 GiATEATT iR R TET TSI/ I GHIEN Bid) o1 Hider_Tal S eV ¢
(1) rrea |fierm (2) 3 G
(3) THdeiEh weift FEOR wieeA (4) ot wd
Merger of firms engaged in unrelated lines of business is known as
(1) A horizontal merger (2) A vertical merger
(3) A conglomerate merger (4) All of the above

62. YSft WU TG U
(1) W AR U (2) wEad aryelt SFgaT
(3) Freae Tew (4) a0 whe e
Capita! Gearing Ratio is also known as
(1) Asset Breaking Ratio (2) Capital Structure Ratio
(3) NetWorth (4) None of the above

63. U@ Yarg vehtd amarYr fefie feretia Feiet i wm
(1) Fem St sma A (2) HHaER fm gt
(3) T fran TosramE (4) =nfdfes form TmsIaTT
In cash flow statement bonus shares issued out of general reserves are
(1) Not considered (2) Considered as operating activity
(3) Considered as investing activity (4) Considered as financing activity

FHooAT HIHTETE! AT/ SPACE FOR ROUGH WORK P.T.O.

wrenss StudentBounty.com

R T S —



http://www.studentbounty.com/
http://studentbounty.com/

BRM 22

64. e HEEhR, TS G, 44 YR o geen 9 o) Fmaerd gwa=
39 .
(1) udsie @hy faooft (2) wepr a9 Faert whe faavf
(3) W WY fauufi (4) g e fyguft

The market deals with the securities issued by Central Government, State
Governments, All India Financial Institutions and other governmental bodies known as

(1) Public security market (2) Gilt-edge security market

(3) Corporate security market (4) Secondary security market

65. . Ryt s U@ fahi 5. 6,00,000/- feaw @ @4 %. 2,80,000/- 3 9EWT 5. 50,000/- 3112,

T FRaEH frlaa U frdY arde ?
(1) %.1,60,000/- (2) %.1,20,000/-
(3) %.2,70,000/- (4) %.3,20,000/-

P Ltd. has net cash sales Rs. 6,00,000/-, cash expenses Rs. 2,80,000/- and
depreciation Rs. 50,000/-. Cash flow from operating activity should be

(1) Rs.1,60,000/- (2) Rs.1,20,000/-
(3) Rs.2,70,000/- (4) Rs. 3,20,000/-

66. W TS Te= gt Aagan deehr) He fawes e wHvarn v S srewrid A6 7
(1) =g wmEa
(2) T=a WA
(3) (g I U7 wEA) TR
(4) SRt i AT

The subject of co-operative societies falls under whose jurisdiction as per schedule
seven of the Indian Constitution ?

(1) Union government
(2) State government
(3) Concurrent (Both Union and State government)

{4) None of the above

wHoelT HIHTETE ANT/SPACE FOR ROUGH WORK
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67. WRA TSqE2A=AT HIVAT FATBaMe! HehR] Geoiase Anfesit wwama e ofd
(1) g 38 (2) =R 39
(3) IR 43 (4) =R 44
Under which article of the Indian constitution the directives regarding co-operative
societies are given ?
(1) Article 38 (2) Article 39
(3) Article 43 (4) Aricle 44

68. WA IV AT HehHl TeE= T@va/TuremieEd aie R 7
(1) HewRY T& & qd Fot AR
(2) wewRY W & FEt IR
(3) WEFT W Ul A
(4) TERM TET § FU S PN HehoudT AT
Which statement given below is correct regarding the nature of a co-operative society ?
(1) Co-operative society is a quasi-corporation
(2) Co-operative society‘is a corporation
(3) Co-operative society is not a corporation
(4) Co-operative society and corporation are two separate entities

69. = wEren widt=an e sifte=aren fasuieeda faar @e et ™ famrrn T
Tea matar € fragvhian fee SR Fvaia eare e e
(1) T AfE (2) 3 wfe
(3) dF afex (4) @er ufed
The period of limitation in case of dispute in respect of an election of a committee or
office bearers of the society is from the date of the declaration of the
results of the election.
(1) One month (2) Two months
(3) Three months (4) Six months

HooqT HFMETE! AFT/SPACE FOR ROUGH WORK - PT.0.
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70. feiver o guma sRwnfaEg dia Sivmehe T 3d 7

(1) =g smaq (2) I FEEH

(3) foreer =—maTe™m (4) sdiraehy T

With whom can a appeal against the order of winding up made by the Registrar be
filed ?

(1) State Government (2) High Court

(3) District Court (4) None of the above

71. wErn geen aiydi fdar oo wamwn At frar gemm wem 70 s stewes seeen
el ovem weden Freft Jaavars g Seaw @ et e gida ?
(1) de afe sha™ ey 500 %. g3 forar S8 fen
(2) WENE, 38
(3) =Y FUA &S
(4) et Hivrdie T
A committee of the society or an officer or a member thereof fails to invest funds of
such a society in the manner required by section 70 is punishable with
(1) Six months imprisonment or 500 rupees fine or both
(2) Ten thousand rupees fine

(3) Five hundred rupees fine
(4) None of the above

72. TR WIS TETET Yo SUaEaHE 94 30 TR SrvrErd], Wieidsh! i
U HTETIH AR 7 (WHET IUTERA TN ATV HefaH % IHUM AUEE 1)
(1) T BvERRE Y,
(2) W ANTERITAT 1/,
(3) UV AWIHEHT 2/,
(4) Sufaeffoed st dem s/@a
If any committee member is to be removed from his office, then such a resolution is to

be passed by a majority of (consider the members who are present and are entitled to
vote at the time of meeting)

(1) 3/," of the total no. of such members

(2) 1/, of the total no. of such members

(3) 2/, of the total no. of such members

(4) The required no. according to the bye-laws of the society

oo HTATHTE! AN /SPACE FOR ROUGH WORK
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73.

25

TEradien ey gdamane gamed Erdialsh! HIvd HIEN STerevaTd 39 ¢
(1) = daa-vie enftr sres aat ==t onfor o

(2) oY STER HE=T FHS qX HO

(3) varrrr=gt Fae

(4) w1 Srafyuaren N T08 Fas FHS F

What business is transacted in a special general meeting of the society ?

(1) Discussion on Balance Sheet and Profit and Loss Account for the year and its
sanction

(2) Declaration of dividend if any
(3) Election of committee members E
(4) Only that business which is mentioned in the notice convening such a meeting

74.

S i SET AYETd g frd) Rawre A (gE) 20 S o 7
(1) 15 f=w (2) 30 feam

(3) 14 feam (4) 21 fe=@

Notice of first general meeting of the society has to be given before how many days of
such a meeting ?

(1) 15 days | (2) 30 days

(3) 14 days (4) 21 days

75.

TN ARTeETEe Gfava AT TETRT YehuTEl TETT ShledHl Hel Tl Wil i)
I FRER Fhad 7

(1) areue dgradia sufae faoer simr

(2) s TRy e iR

(3) fearft ufsrm dfgar 1908 7=l Az e gadia SRR
(4) TeFR Fagsn e fter

From the below mentioned list, what powers a co-operative court has while settling a
dispute referred to it

(1) Powers given by the bye-laws of the society in dispute

(2) Provided by Central Government

(3) Provided by the code of Civil Procedure 1908

(4) Powers given by the Registrar of the Co-operative Societies

HosAT HIATETET ATT/SPACE FOR ROUGH WORK P.T.O.
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76. m 271 n &1 9 fawe e 3Rd. n @ 9 m Y& TR E AR, I EE m, n
AR} Aied1d Aidt G6dn vt ?
(1) 2 2) 4 (3) 6 (4) 8

Let m and n be any two odd numbers with n less than m. The largest integer which
divides all possible numbers of the form m2 — n2 is

(1) 2 (2) 4 (3) 6 (4) 8

77. A9 UV TR Tet R weh a g geren feen. w =gty ga=n g
fowan 3w emiw st foa=an geran feen. Seien 7 Rt @ e garer foe woagw
At foReft ?
(1) 80 (2) 100 (8) 120 (4) 140
A farmer divides his n cows among his 4 sons so that one son gets "/, cows the

second son gets "/, and third son gets "/ cows. Fourth son gets remaining 7 cows.
Thennis

(1) 80 (2) 100 (3) 120 (4) 140

78. FamEn w15 qeft feg fower qerh den gefien gue wiefl. @mm 45 ger fe
Tearar Hefiel GeEn Jare urede Jiel. T geardian gefret ae fad ?
(1) 29 (2) 32 (3) 40 (4) 50
From a group of boys and girls, 15 girls leave.. Now the number of boys is twice the

number of giris. After this 45 boys leave. Now the number of girls is 5 times the number
of boys. How many girls were there in the beginning ?

(1) 29 (2) 32 (3) 40 (4) 50

79. oft. o1 9t Ta:Er 10,000 %. fFuefrar T 10% T st o 9 e, Fa s, 9 99 99
QIR #i. 37 AT 10% e faehar @
(1) #ft. 31 9 76T fehen et T e A
(2) . 31 9T 1,100 %. =1 &t qel
(3) 1. 3191 1,000 %. =91 AT A
(4) =t 37 91T 900 T9THT T FIAT

Mr. A owns a computer worth Rs. 10,000. He sells it to Mr. B at 10% profit. Mr. B sells
it back to Mr. A at 10% loss. Then

(1) A makes no profit or loss

(2) A makes profit of Rs. 1,100

(3) Aloses Rs. 1,000

(4) A loses Rs. 900

HoedT HATHTS AWT/SPACE FOR ROUGH WORK
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80. SR 3N HEREN AN 10 F THR 20 HES T =T (reciprocals) S s

27

(1) Yo (2 (3) 1 (4) 2

The sum of two numbers is 10 ; their product is 20. The sum of their reciprocals is

Y i b

. o

PRSI O TR . iiomire -

o BRR A oo it i g ol S
TS

I
ek
sz

() Yo 2 %, (3) 1 (4) 2
81. WrEfelehl ot GET € 287 + x T 378 + x TS WIS AT 1T THIR AT 7
(x & Jenfifer Twan ammR)
(1) 26 (2) 13 (3) 91 4 7
Which of the following can never be a common factor of 287 + x and 378 + x where x
is a natural number ? |
(1) 26 (2) 13 (3) 9N 4 7
82. S(n) g nYEifls v & o ol oTR. 3. S(197) =1 +9+7 =17
R 32 (n) = S(S(n)), S3(n) = S(S(S(N))), v A §2008 (2006) +ft ferma .
(1) 1200 () 8 (3) 2006 (4) Tear ¥q A=
Let S(n) denote the sum of digits of n, for example. S(197)=1+9+7=17
Let 32 (n) = S(S(n)), S3(n) = S(S(S(NY)), ........
Then S$2906 (2006) is
(1) 1200 (2) 8 (3) 2006 (4) cannot be found
83. W(x+1)(x+a)(x+b)(x+2) = x* +10x3 + 35x2 + 50x+24 W a Hftr b= fhercl =ham Swlied ?
(1) a=1,b=2 (2) a=2,b=3
(3) a=3,b=4 (4) a=1,b_=4
If (x.+1)(x+a) (x+b)(x+2) = x* +10x® + 35x% +50x + 24 then the values ofaand b
will be ? ‘
(1) a=1,b=2 (2) a=2,b=3
(3) a=3,b=4 (4) a=1,b=4
HoSHT HIHTHIG! ATM/SPACE FOR ROUGH WORK P.T.O.
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84. D=—+—-+4+—-+..+ — E=—+—- +—
W37 g9 MM E=5t 3+
g o e ?
(1) D=E (2) D>E (3) D<E (4) D=
|fD"-1—+l+1+ + — dE—l+l+1 h ich of
173757 5o an 57278 1000 then which of the
following is correct ?
1
(1) D=E (2) D>E (3) D<E (4) D=—2—E
7x-y .
85. SU2x+ 3y=6x—-y=0 W Xty <1 fehd e
(1 1 2 3 (3) & 4) 4
' 7xX-y
Suppose 2x + 3y = 6x — y # 0 then X+ is
(1) 1 (2) 3 Q) & (4) 4
86. ? qyey WV STeEd ST,
(1) ™. . S (2) voNTgE
(3) . IR, 7| (4) . w. Iew
is known as ‘Desh Bandhu'.
(1) M. A.Jinnah (2) Annadurai
(3) C.R.Das (4) J. M. Nehru
87. wudt Areskhm@dt vt FreE e ?
(1) e Sed (2) fo'. ARm
(3) fa.d. @ (4) . sfmaT sef

Who among the following contributed for Marathi Theatre ?
(2) V.Shantaram
(4) Pt, Bhimsen Joshi

(1) Ganpatrao Bodas
(3) V.S. Khandekar

ool HIWTHATS! AR /SPACE FOR ROUGH WORK
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: 88. WAl v oyl s T ‘Favd’ 7 ¢
; (1) 1630 (2) 1673 (3) 1674 (4) 1676
In which year Shivaji was crowned as a ‘Chhatrapati’ ?
(1) 1630 (2) 1673 (3) 1674 (4) 1676

89. wHnen ‘AfFaaE wevr A I ¢

(1) . 7. IRE (2) M. 8. W@
(3) T . WISREH (4) =M. TR
Who was popularly known as “Lokhitwadi” ?
?} (1) G.G.Agarkar (2) G.H.Deshmukh
(3) R.G. Bhandarkar (4) M. G. Ranade

90. AT FUSKE axfiern fafgora da & ?

i (1) @ g (2) da TR
| (3) Twe™ (4) Ha gHRW

Which saint has written commentary on Bhagwadgita in Marathi ?
i‘ (1) Gyaneshwar (2) Namdev

(3) Ramdas (4) Tukaram

91. faum - A W@ Adfie firamr 5 #a.
FAOU - R AT IS EIEA Svgra 3T

(1) A9 R 2 st 3Rd Wg R 8§ A 3 S0 Tsdisor gt
(2) AR I U AR T R T A = TS TR 3712
(3) AR 3R, R o 3R
(4) ATHH e, R TS AR

Assertion— A The Sepoy’s at Meerut mutinied.

P

Reason — R Mangal Pandey was hanged.

(1) Both A and R are true but R is not the correct explanation of A
(2) Both A and R are true and R is the correct explanation of A
(3) Aistrue, Ris false

(4) Aisfalse, Ris true
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92. o ey axfavamandt dagmy et “Argege’ forare v .
(1) Feger oars (2) wferrraTen am gde
(3) wfema wERw e (4) <=Ri=RT we

Rabindranath Tagore gave up his 'knighthood’ to protest against the
(1) Communal Award (2) Jallianwallah Bag Tragedy

(3) Civil Disobedience Movement (4) Chauri Chaura Incident

93, WRER TSI VT FHEHTd FHaevmh ST wE AT e 118 ¢

(1) wewsh. 312 (2) ®HeHFH. 224

(3) =W sh. 324 (4) ®cHF. 124

Which article of the Indian Constitution provides for Election Commission ?
(1) Article No. 312 (2) Article No. 224

(3) Article No. 324 (4) Article No. 124

94, WERTRAS Stfaet wietg ar siftrehr=rih fgert s g ?
(1) HERTg SEREaT T
(2) RGN =99
(3) < ey
(4) F3F T JE
Who appoints the All India Service Officers of Maharashtra ?
(1) Maharashtra Public Service Commission
(2) Governor of Maharashtra
(3) President of the Country

(4) Union Public Service Commission

95. THIVICT AXTITYT STUUNT TSI HERTSETAT TSEhId &A1 WETARTeE, NS e hel ¢
(1) 2003 (2) 2011 (3) 2005 (4) 1995

Since which year Anna Hazare started Andolan (movement) against corruption in the
political field of Maharashtra ?

(1) 2003 (2) 2011 (3) 2005 (4) 1995

THoodT HIATHTST ATT/SPACE FOR ROUGH WORK
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96.

31

ReAlaET A TRV FOTAT et w4 (F dfigy) fonclt sraeft wifest ?

(1) 10f%. & 2) 6f. &
(3) 4fh. &2 (4 200f%. &
The required band width for telephonic (voice) signal communication is how much ?
(1) 10 KHz (2) 6 KHz
(3) 4 KHz (4) 200 KHz
97. 0.001 ¥4 WHeT TGS AT 81 (pH) AR,
(1) 0.001 (2) 0.0001 (3) 3.3 (4) 3
The pH of 0.001 M HCl is
(1) 0.001 (2) 0.0001 (3) 3.3 (4) 3
98. Wrcliedehl Faem WviiarTia Fiid Yae UGl eB 7
(1) e (2) 3w
(3) 3weFag (4) we
Which of the following animal types show branchial respiration ?
(1) Cyclostomata (2) Amphibia
(3) Myriapoda (4) Mammalia
99. Jafen R U
(1) TR el (2) WIRifeR W
(3) I TR T (4) alict 9d W

Personal hygiene means
(1) Staying disease free (2) Body Cleanliness

(3) Taking care of your eating habits  (4) All the above options

100. icah=a1 auaTd Aviiedie ST geshis WeegHH EENCRIC R
(1) 16 (2) 20 (3) 14 (4) 12
The molecular mass of two adjacent members in a homologous series of alkanes
differ by
(1) 16 (2) 20 (3) 14 (4) 12
FHoodl THIATATE! ATT/SPACE FOR ROUGH WORK P.T.O.
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U gNR A= o= e uE dEe.

(9) HR ywuhEREE! A fafta Fae d AueAHA SATTRIRT § TT YRR @a; Jet
TRETH AT VA A TR 3R, W WRITREITETE ATvaTYE| SHEaH SHTaean
IAAAFEAT WAT ~ 1 ARAHHTRS 7 TG Wa 0 REava® one.

AHAT W9
T . 201, Tdi O T FoIEE! Fioft god: WA w7
(1) T garE v (2) $veg faamarr
(3) TS TAHTEA T (4) TITEFT TR

T I I 39 (3) TN Ui UF 3 SA1R, T0THS 1 9y S (3) ) 2. aread
WA 9. %, 201 TR sw-Fas @) 2 ade gl swifhd w& srafon
HEGEF AR,

v%2. O © @ @

I UG TEgA TGRS YT TS qEHT ST 1 qrera saaen gUase
IeCITFREE T T SeThRHTehTaRIe G fo ages YUTA0l STHIRRd e Sraardl. gITehitat
el THTeAT VTS FieTad ST, et o wivd= O s 4.
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